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General Instructions: 

i. This Question paper is divided into three sections-Sections A, B, C.  

ii. All questions are compulsory.  

iii. Section-A: Question no. 1 to 8 are Multiple Choice questions of 1 mark each.  

iv. Section-B: Question no. 9 to 12 are short answer type questions, carrying 3 marks each. Answer to each 

question should not exceed 80 words.  

v. Section-C: Question no. 13 and 16 are long answer type questions, carrying 5 marks each. Answer to 

each question should not exceed 120 words.  

 

SECTION-A 

1. Sorrieu’s vision of society which is so idealistic that is unlikely to exist is called__________. (1) 

 (A)Utopian (B) Absolutist  

 (C) Democratic (D) Conservatives  

   
2. Among which classes did the idea of national unity following the abolition of aristocratic 

privileges gained popularity? 

(1) 

 (A) Aristocrats (B) Peasants  

 (C) Liberal middle class (D) Poorer section of the society  

   

3. Which reasons help in avoiding conflict in society and preventing majority tyranny? (1) 

 (A) Prudential reasons (B) Moral reasons  

 (C) Financial reasons (D) Political reasons  

   

4. The jurisdictions of all the levels of the government are specified in the_________. (1) 

 (A) State list (B) Union list  

 (C) Residuary Subject (D) Constitution  

   

5. ‘Accumulation of resources in few hands’ is the result of____________. (1) 

 (A) Production by masses. (B) Indiscriminate use of resources. 

 (C) Technological development. (D) Institutional changes. 

 
 

 

   

6.  Identify the correct combinations from the options: (1) 

 1. Non Renewable Resource A.  Wind energy in Gujarat  

 2. Individual resource B.  Burial grounds  

 3. Common Property Resource C.  Jharia Coal Field. 

 

 

 4. Potential Resource D.  Salvator’s Vineyard 

 

 

 Options:  

 (A) 1-D, 2-A, 3-C, 4-B 

 

(B) 1-A, 2-B, 3-D, 4-C 

 

 

 (C). 1-C, 2-D, 3-B, 4-A 

 

(D) 1-B, 2-D, 3-C, 4-A 
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7. Which one of the following is the correct meaning of ‘Average Income’? (1) 

 (A) The total income of the country divided by its earning population.  

 (B) The total income of the country divided by its total population.  

 (C) The total income of all the residents of the country.  

 (D) The total income from the domestic and foreign sources.  

   
8. Study the table and answer the question given below: (1) 

 

 

 

 In Uttar Pradesh what percentage of female children (girls) aged 10-14 years are not attending 

school? 

 

 (A) 18 (B) 85  

(C) 10 (D) 82 

    SECTION-B  

9. Explain any three changes which Napoleon introduced to make the administrative system more 

efficient in Europe. 

(3) 

   
10. Write a comparative study between Horizontal power sharing and Vertical power sharing. 

Support your answer with an example for each. 

(3) 

   
11. ’ Continuous use of land over a long period of time without taking appropriate measures to 

conserve and manage it, has resulted in land degradation’- Discuss the reasons of any three 

types of land  degradation which are very common in India.  Suggest the measures to conserve 

the land from each type of degradation you mentioned.  

 

(3) 

   
12. Rohit is 28 years old, has 65 kg of body weight and is 1.4 meters tall. Calculate his BMI. Find 

out whether he is under nourished, normal or over weight. Give reason for your answer. 

(3) 

     SECTION-C  

13. (a) What was the Zollverein? 

(b) Under whose initiative and for what purpose was it formulated? 

(5) 

 
 

 
14.  Describe how the Constitution has distributed the legislative powers between the Union 

Government and the State Government.  Explain with examples. 

(5) 

   
15. Why do we need resource planning? Explain any two points. Which are the three stages 

involved in resource planning in India? Discuss with appropriate examples. 

(5) 

   
16. (a) “People have conflicting developmental goals.” Support the statement with an example. (1) 

 (b) What is meant by Sustainable Development? Suggest any one measure to ensure 

Sustainable Development. 

(2) 

 (c) In what respects is the criterion used by the UNDP for measuring development different 

from the one used by the World Bank? 

(2) 

   


